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1. Find the slope of the tangent line to the graph of f(z) =z

Inz

at the point (e, e).

sinz —xcosT

2. Find the limit lim
z—0  tandz

3. Find the volume of the solid bounded above by the surface z = f(z,y) = e*+%

and below by the plane region R, where R is the triangle with vertices (0,0),

(1,0), and (0, 1).

4. Find the maximum value of f(z) = z2(1 — z)3 on the closed interval [0, 1].

n
5. Find the limit lim Z 1n (1 s E).
n—oo —_ n n

In2
6. Evaluate the integral / z2e /% dz,
0

7. The production for a certain country in the early years following World War II is
described by the function f(z,y) = 30z 2/ 3y 1/3 ynits, when z units of labor and
y units of capital were utilized. Find the approximate change in output if the
amount expended on labor had been decreased from 125 units to 123 units and
the amount expended on capital had been increased from 27 to 29 units.

_1\n+1 2\n
8. Find the radius of convergence of the power series Z (=1) n2(:: +2) .

n=1
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1. Determine if the series converges or diverges.
oo

(2) (64) Y (nlde” ~ 1) ~n2e” +1)).  (b) (6 #) Z =

n=0

2. Find the critical point(s) of the function f(z,y) = e%*~%", Then use the second
derivative test to classify the nature of the point.

1 97rsin (1r:z:2) dzdy

3. Sketch the region of integration and evaluate the integral / / -




